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(9) EKEMRIER

(841 : m)
e
X B 50mm | 75mm | 100mm | 125mm | 150mm | 200mm | 250mm | 300mm | 350mm
X5
Bt 5% 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B B | HEE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X TN 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
g 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Bf & | 272.00[ 41.00 84.10 0.00] 1,257.30 0.00 0.00 0.00 0.00
+ 2 | HEE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X TN 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
g 272.00] 41.00 84.10 0.00] 1,257.30 0.00 0.00 0.00 0.00
B & 0.00 0.00] 1,879.90 0.00 0.00 0.00 0.00 0.00 0.00
= =2 | HEE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X TN 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
g 0.00 0.00] 1,879.90 0.00 0.00 0.00 0.00 0.00 0.00
B & 0.00 0.00] 806.98 0.00 0.00 0.00 0.00 0.00 0.00
OE | wuEm 0.00 0.00] 358.51 0.00 0.00 0.00 0.00 0.00 0.00
e TN 0.00 0.00] 358.51 0.00 0.00 0.00 0.00 0.00 0.00
g 0.00 0.00] 806.98 0.00 0.00 0.00 0.00 0.00 0.00
Bf & | 272.00{ 41.00{ 2,770.98 0.00] 1,257.30 0.00 0.00 0.00 0.00
.. HEE 0.00 0.00] 358.51 0.00 0.00 0.00 0.00 0.00 0.00
o TN 0.00 0.00] 358.51 0.00 0.00 0.00 0.00 0.00 0.00
g 272.00{ 41.00] 2,770.98 0.00] 1,257.30 0.00 0.00 0.00 0.00
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(BfiL - m)

O
W & 400mm | 450mm | 500mm | 600mm | 700mm | 800mm | 1000mm st
X4
B % 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 0.00
s B | uEE 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 0.00
X | g 0.00 0.00 0.00[ 0.00 0.00] 0.00 0.00 0.00
0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 0.00
B % 0.00|  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 1, 654. 40
+ 32 | HFE 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 0.00
X | g 0.00 0.00 0.00[ 0.00 0.00] 0.00 0.00 0.00
0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 1, 654. 40
B % 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 1,879. 90
= e | YFEE 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 0.00
X | o 0.00 0.00 0.00[ 0.00 0.00] 0.00 0.00 0.00
0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 1,879. 90
B % 0.00|  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 806. 98
OB | ygE 0.00{ 0.00/ 0.00] 0.00 0.00] 0.00] 0.00 358. 51
TR e 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 358. 51
0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 806. 98
B % 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 4,341.28
| uem 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 358. 51
o = 0.00  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 358. 51
0.00|  0.00 0.00] 0.00] 0.00[ 0.00] 0.00 4,341.28

73




(10) EERIBKEMRILER

(B : m)
g & Al =4 % 50mm | 75mm 100m |125m| 150mm [ 200mn| 250mn| 300mn| 35 0mn
BX B4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
C I NE & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
® % B = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B4 0.00 7.00{ 2,323.27 0.00] 1,238.30 0.00 0.00 0.00 0.00
D I NE & 0.00 0.00 358.51 0.00 0.00 0.00 0.00 0.00 0.00
F091VERE|w = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 7.00{ 2,681.78 0.00]| 1,238.30 0.00 0.00 0.00 0.00
BX B4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
S NE & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
i Bl = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B4 0.00 0.00 358.51 0.00 0.00 0.00 0.00 0.00 0.00
v E] & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
REEIE —— L8 = 0.00 0.00 358.51 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX %[ 272.001 34.00 77.00 0.00 19. 00 0.00 0.00 0.00 0.00
ﬁ'}n?\'ij ?éi % 'TPE e & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BEEl e = — L a| = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
272.00[ 34.00 77.00 0.00 19. 00 0.00 0.00 0.00 0.00
w  — W BX B4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B OB & ]S & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
54::;7)‘;@%: 5 = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
A C NE & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
AREXY ME g = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B4 0.00 0.00 12.20 0.00 0.00 0.00 0.00 0.00 0.00
p NE & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
RUTFL & = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 12.20 0.00 0.00 0.00 0.00 0.00 0.00
BX B4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
N C N E] & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
TAO2I-HEE|H = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
S S N E] & 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
AT YL A MME |y = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX % 272.00] 41.00{ 2,770.98 0.00]| 1,257.30 0.00 0.00 0.00 0.00
~ ! & 0.00 0.00 358.51 0.00 0.00 0.00 0.00 0.00 0.00
- Tl = 0.00 0.00 358.51 0.00 0.00 0.00 0.00 0.00 0.00
272.00{ 41.00| 2,770.98 0.00] 1,257.30 0.00 0.00 0.00 0.00
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(BBfiL - m)

g & A §400mm 450mm| 500mm| 6 00mm| 70 Omn 800mm1000mn| Hi
%)

BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
C I HE! E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
® &% B = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 3,568. 57
D I HE! E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 358.51
F091VERE | = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 3,9217.08
B% B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
S HE! E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
& Bl = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B% B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 358.51
v | E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BRI —— LB = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 358.51
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 402.00
ff% éﬁ ;/é ‘FZ | E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
gEEe = — L = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 402.00
— W B% B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B OB 5 S E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5\4::;9)“%@% it = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
A C HE! E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
AR XY MEy = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 12.20
p HE! E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
RUTFL V& = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 12.20
BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
N C HE] E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
FAOYI-HEE |y = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BX B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
S S N E] E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
AT YL RMIBE |y = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B% B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 4,341.28
~ ! E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 358.51
- R = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 358.51
0.00 0.00 0.00 0.00 0.00 0.00 0.00 4,341.28
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(11) FKEMRER

(8L : m)
(WERS
wREH 50mm | 75mm [ 100mm | 125mm | 150mm | 200mm | 250mm | 300mm | 350mm
X5
BE &% |1,195.10 0.00 0.00 0.00 0.00] 3,901.60{ 1,794.80( 3,454.70( 2,134.00
B e | HFE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X BE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B 1,195.10 0.00 0.00 0.00 0.00{ 3,901.60{ 1, 794. 80| 3, 454.70( 2,134. 00
Bt =X 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
+ 2 | HFE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X BE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
H 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Bt &% 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
=z 2 | HEFE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X BE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
H 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Bt 3% 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
OB | ugE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B BE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
H 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BE &% |1,195.10 0.00 0.00 0.00 0.00] 3,901.60| 1,794. 80 3,454.70( 2,134.00
. LFE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
o BE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
B 1,195.10 0.00 0.00 0.00 0.00{ 3,901.60{ 1, 794. 80| 3, 454.70( 2,134. 00
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(8L : m)

mit:
X B 400mm | 450mm | 500mm | 600mm | 700mm | 800mm | 1000mm Hi
X%
BE 3% |6,921.00| 1,438.00| 9,553. 40|11, 566. 00| 6,578.00{11,777.00]  97.00 60,410. 60
E OB | NEE 0.00f  0.00  0.00  0.00  0.00  0.00] 0.00 0.00
X | gk 0.00f  0.00{  0.00{  0.00{ 0.00]  0.00[ 0.00 0. 00
6,921.00| 1,438. 00| 9, 553. 40|11, 566. 00| 6, 578. 0011, 777.00[  97.00 60,410. 60
B % 0.00f  0.00]  0.00  0.00] 0.00[  0.00] 0.00 0.00
T i3 | 4EE 0.00f  0.00  0.00  0.00  0.00  0.00] 0.00 0.00
X | gk 0.00f  0.00{  0.00{  0.00{ 0.00]  0.00[ 0.00 0. 00
0.00f  0.00f  0.00  0.00  0.00/  0.00] 0.00 0.00
B ® 0.00f  0.00]  0.00[  0.00] 0.00[  0.00] 0.00 0.00
5 s | 4EE 0.00f  0.00  0.00  0.00  0.00/  0.00] 0.00 0.00
X | gk 0.00f  0.00{  0.00{  0.00{ 0.00]  0.00[ 0.00 0. 00
0.00f  0.00f  0.00  0.00  0.00 0.00] 0.00 0.00
B 0.00f  0.00]  0.00[  0.00]  0.00[  0.00] 0.00 0.00
xOE | uEE 0.00f  0.00  0.00  0.00  0.00  0.00] 0.00 0.00
TR 0.00f  0.00]  0.00[ 0.00] 0.00[  0.00] 0.00 0.00
0.00f  0.00  0.00  0.00  0.00/  0.00] 0.00 0.00
BE 3% |6,921.00] 1,438.00| 9,553. 40|11, 566. 00| 6,578.00{11,777.00]  97.00 60,410. 60
| e 0.00f  0.00f  0.00  0.00  0.00/  0.00] 0.00 0.00
o s 0.00f  0.00]  0.00[  0.00]  0.00[  0.00]  0.00 0.00
6,921.00| 1,438. 00| 9, 553. 40|11, 566. 00| 6, 578. 0011, 777.00[  97.00 60,410. 60
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(12) ERERIEKEMRIER

(Bfif - m)
- O

= & Bl 5 Omn 75mm | 1T00mm | 125mm | 150m | 200m | 250m | 300mm | 350mn

X5
B [ 0.00] 0.00[ 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
C I Pl & g o0.00 o0.00 o0.00f 0.00 0.00] 0.00f 0.00[ 0.00] 0.00
%% B %[ 0.000 0.00f 0.00] 0.00 0.00] 0.00f 0.00] 0.00[ 0.00
B 0.00| 0.00 0.00 0.00 0.00 0.00 0.00 0.00[ 0.00
B = 800.70  0.00[ 0.00[ 0.00] 0.00[3,901.60] 785.00[3,454.70|2,134.00
D I Pl & g o0.00 o0.00 o0.00f 0.00 0.00] 0.00f 0.00 0.00] 0.00
TU 91 VERE | %[ 0.000 0.00f 0.00] 0.00 0.00] 0.00f 0.00] 0.00[ 0.00
5 800.70|  0.00  0.00] 0.00]  0.00]3,901.60| 785.00|3,454.70|2,134.00
B [ 0.00] 0.00[ 0.00[ 0.00] 0.00] 0.00[1,009.80] 0.00] 0.00
S Pl & g o0.00 o0.00 o0.00f 0.00 0.00] 0.00f 0.00[ 0.00] 0.00
i B %[ 0.00{ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
B 0.00| 0.00 0.00 0.00 0.00] 0.00{1,009.80] 0.00[ 0.00
B [ 0.00] 0.00[ 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
i pl & g 0.000 0.00 0.00] 0.00 0.00] 0.00 0.00] 0.00[ 0.00
BRIREE ——VE %= 0.000 o0.00f 0.00f 0.00f 0.00] 0.00f 0.00{ 0.00 0.00
B 0.00| 0.00 0.00 ©0.00 ©0.00 0.00f 0.00 0.00[ 0.00
B [ 0.00] 0.00[ 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
H L vV Ply & g 000 000 000 000 000 000 0.00 0.00 0.00
@gﬁgf_ )J% 54 %[ 0.00{ 0.00{ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
B 0.00| 0.00 0.00 0.00 ©0.00 0.00f 0.00 0.00[ 0.00
w — [ 0.00] 0.00] 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
B om 5 (/= & e o000 o000 o000 o000 000 000 000 000 000
£ = -V S %[ 0.00{ 0.00{ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
EREEE B 0.00| 0.00 0.00 0.00 0.00 0.00f 0.00 0.00[ 0.00
B [ 0.00] 0.00] 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
A C Pl% = g o000 o000 o000 o000 o0.00 0.00 0.00 0.00 0.00
ABTEXD Eg %[ 0.000 0.00f 0.00] 0.00 0.00] 0.00f 0.00] 0.00[ 0.00
B 0.00| 0.00 0.00 0.00 0.00 0.00f 0.00 0.00[ 0.00
B 2| 394.40 0.00[ 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
= Pl & g o0.00 o0.00 o0.00f 0.00 0.00] 0.00f 0.00[ 0.00] 0.00
RUILFLUEH #| 0.00f 0.00] 0.00f 0.00f 0.00] 0.00f 0.00] 0.00 0.00
B 394.40|  0.00] 0.00] 0.00] 0.00] 0.00 0.00 0.00] 0.00
B [ 0.00] 0.00] 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
N Cc pl% & B 0.0 0.00 0.00 000 000 000 000 0.00 0.00
TAO02I-HEE | %| 0.000 0.00 o0.00f 0.00] 0.00f 0.00] 0.00] 0.00] 0.00
B 0.00| 0.00 0.00 ©0.00 0.00 0.00f 0.00 0.00[ 0.00
B [ 0.00] 0.00] 0.00[ 0.00] 0.00] 0.00] 0.00] 0.00] 0.00
s s pl&% & B 000 0.00 0.00 0.00] 0.00 0.00 0.00] 0.00 0.00
AT L AWME| % 0.00f 0.00] 0.00f 0.00f 0.00] 0.00f 0.00] 0.00] 0.00
B 0.00| 0.00 0.00 0.00 0.00 0.00f 0.00 0.00[ 0.00
B 22[1,195.10]  0.00] 0.00] 0.00]  0.00[3,901.60[1, 794.80[3, 454. 70[2, 134. 00
N o, = # [ o000 0.0 0.00 0.00 0.00 0.00] 0.00] 0.00 0.00
- = %[ 0.000 0.00] 0.00] 0.00] 0.00] o0.00] o0.00] 0.00] 0.00
B 1,195.10]  0.00]  0.00] 0.00]  0.00]3,901.60[1,794. 803, 454. 70]2, 134. 00
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(BBfif : m)

o O .
= & Rl 400m| 450m| 500m | 600m | 700mm | 800mm|100Omn =t
X5
B [ o0.00] 0.00] o0.00] 0.00] 0.00] 0.00[ 0.00 0.00
C I pl% & ® 000 000 000 000 000 000 0.00 0. 00
%% By %[ 0.000 0.00f 0.00] 0.00] 0.00] 0.00[ 0.00 0. 00
5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
B =26, 903. 00[1, 438. 00[9, 370. 40[10, 183. 006, 578. 00[ 11, 777.00]  97. 00 57, 422. 40
D I Pl% & ®| 000 000 000 000 000 000 000 0. 00
091 IERE | %[ 0.000 0.00f 0.00] 0.00] 0.00] 0.00[ 0.00 0. 00
B 6,903. 00| 1, 438. 00{9, 370. 40|10, 183. 00| 6, 578. 00[11,777.00| ~ 97.00 57, 422. 40
B =2 18.00] 0.00] 183.00[1,383.00] 0.00] 0.00] 0.00 2,593. 80
S Pl% & ® 000 000 000 000 000 000 0.00 0. 00
i B %[ 0.000 0.00f 0.00] 0.00] 0.00] 0.00[ 0.00 0. 00
5 18.00]  0.00{ 183.00[1,383.00 0.00]  0.00 0.00 2,593. 80
B 2] o0.00] 0.00] 0.00] o0.00] o0.00] 0.00] 0.00 0.00
v pl4 & E| 0.000 0.00[ 0.00[ 0.00[ 0.00[ 0.00[ 0.00 0. 00
BRIREE ——VE %= 0.000 0.00f 0.00 0.00] 0.00] 0.00[ 0.00 0. 00
5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
B [ o0.00] 0.00] o0.00] 0.00] o0.00] 0.00[ 0.00 0.00
H 1 V Pla & g 000 000 000 000 000 000 0.00 0.00
m & 2
WL — — L | %[ 0.000 0.00f 0.00] 0.00] 0.00] 0.00[ 0.00 0. 00
5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
w —  wE 2] o0.00] 0.00] o0.00] 0.00] 0.00] 0.00[ 0.00 0.00
B OB & % & B 0.00 000 0.00 000 0.00 000 0.00 0. 00
A I %\ 0.00] 0.00] 0.00 0.00 0.00] 0.00[ 0.00 0.00
SA=VIHE 5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
B 2] o0.00] 0.00] 0.00] o0.00] o0.00] 0.00] 0.00 0.00
A C Pl = = o000 000 000 000 000 000 000 0. 00
AlBTEXD ~Eg %[ 0.000 0.00f 0.00] 0.00] 0.00] 0.00[ 0.00 0. 00
5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
B 2] o0.00] 0.00] o0.00] o0.00] o0.00] 0.00] 0.00 394. 40
p Pl% & ®| 000 000 000 000 000 000 0.00 0. 00
RUILFLUEH #| 0.00 0.00] 0.00[ 0.00 0.00] 0.00[ 0.00 0.00
B 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 394. 40
B [ o0.00] o0.00] o0.00] o0.00] o0.00] 0.00[ 0.00 0.00
N C Pl& = r| 000 o000 000 000 000 0.00 0.00 0. 00
TAO02I-HEE | % 0.00 0.000] 0.00[ 0.00 0.00] 0.00[ 0.00 0.00
5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
B 2] o0.00] o0.00] o0.00] 0.00] o0.00] 0.00] 0.00 0.00
s s pls = ml 000 o000 000 000 000 0.00 0.00 0. 00
AT L AWME| % 0.00 0.00] 0.00[ 0.00 0.00] 0.00[ 0.00 0.00
5 0.00f 0.00 0.00] 0.00 0.00] 0.00[ 0.00 0. 00
B =216, 921.00[1, 438. 00[9, 553. 40[ 11, 566. 00[6, 578. 00[ 11, 777.00]  97. 00 60, 410. 60
N o % & g o000 o000 0.00 0.00] 0.00] 0.00[ 0.00 0.00
- T =0 0.00] o0.00] 0.00] 0.00] 0.00] 0.00[ 0.00 0.00
B 6,921.00[1, 438.00[9, 553. 40|11, 566. 00| 6, 578. 00|11, 777. 00| 97.00 60, 410. 60
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(13) EKEMGER

(841 : m)
O
B 50mm | 75mm | 100mm | 125mm | 150mm [ 200mm | 250mm | 300mm | 350mm
X5
BT =% [106,059.00(338, 453.79(507, 639. 85| 2,888.90|237,437.49]191, 264. 28 49, 528. 30 54, 548. 68 16, 011. 01
= &= | YERE | 1,985.50]  963.10] 1,413.50 0.00] 510.90|  656.10 0.00[ 239.50 0. 00
#OX | sk | 1,215.50]  778.80]  460.80 0.00] 413.50| 354.00] 115.10 0.00[  446.70
5 106, 829. 00{338, 638. 09| 508, 592. 55| 2, 888. 90|237, 534. 89191, 566. 38 49, 413. 20| 54, 788. 18 15, 564. 31
B =% 55.80|  641.00] 1,498.30 0.00| 479.50|  47.50 0.00 0.00 0.00
+ 2 | HEE 0. 00 0.00 0. 00 0.00 0. 00 0.00 0.00 0.00 0.00
X | ok 0. 00 0.00 0. 00 0.00 0. 00 0.00 0.00 0.00 0. 00
B 55.80|  641.00] 1,498.30 0.00| 479.50|  47.50 0.00 0.00 0.00
BE E% | 557100 589.67|  700.09 0.00 0.00 0.00 0.00 0.00 0. 00
= = | YEFEE 0. 00 0.00 0.00 0.00 0. 00 0.00 0.00 0.00 0. 00
X | ok 0. 00 0.00 0.00 0.00 0. 00 0.00 0.00 0.00 0.00
B 557.10]  589.67|  700.09 0.00 0.00 0.00 0.00 0.00 0.00
BE % | 327.00] 3,167.08| 5,195.50 0.00| 3,687.56| 1,933.86| 1,482.00 0.00 0. 00
x| yEr 0. 00 0.00 0.00 0.00 0. 00 0.00 0.00 0.00 0.00
#H X
E 0. 00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5 327.00| 3,167.08| 5,195.50 0.00| 3,687.56| 1,933.86| 1,482.00 0.00 0. 00
BE E% |106,998.90[342, 851.54|515,033. 74| 2, 888.90|241,604. 55[193, 245. 64|51, 010. 30| 54, 548. 68| 16, 011. 01
WEFRE | 1,985.50|  963.10] 1,413.50 0.00] 510.90| 656.10 0.00[ 239.50 0.00
a §
x| 1,215.50]  778.80[  460.80 0.00| 413.50| 354.00] 115.10 0.00]  446.70
5 107, 768. 90{343, 035. 84| 515, 986. 44| 2, 888. 90|241,701. 95193, 547. 74 50, 895. 20| 54, 788. 18| 15, 564. 31

oU




(BBfiL : m)

O
3 400mm | 450mm | 500mm | 600mm | 700mm | 800mm | 1000mm| &t
X5
BE =8| 26,177.40| 3.117.50| 15,574.60]  8,385.10| 4,294.00] 1,578.00] 75470 1,563, 712.60
= e | UEE 479.30 0.0 141.30 0. 00 0.00 0.00]  0.00 6,389. 20
x| sk 852. 00 0. 00 0.00 361.10 0.00 0.00  0.00 4,997. 50
z 25,804.70| 3,117.50| 15,715.90|  8,024.00| 4,294.00| 1,578.00| 754.70| 1,565, 104.30
B % 0.00 0.00 0.00 0. 00 0.00 0.00] 0.0 2,722.10
+ 2 | uEE 0.00 0. 00 0.00 0. 00 0.00 0.000 0.0 0. 00
x| ok 0.00 0.00 0.00 0.00 0.00 0.000  0.00 0.00
z 0.00 0.00 0.00 0. 00 0.00 0.000 0.0 2,722.10
B % 0.00 0.00 0.00 0. 00 0.00 0.000 0.0 1, 846. 86
= = | YERE 0.00 0. 00 0.00 0. 00 0.00 0.000 0.0 0. 00
x| ok 0.00 0.00 0.00 0.00 0.00 0.000  0.00 0.00
z 0.00 0.00 0.00 0. 00 0.00 0.000 0.0 1, 846. 86
Bo% 0.00 0.00 0.00 0. 00 0.00 0.000 0.0 15, 793. 00
xR | g 0.00 0.00 0.00 0.00 0.00 0.000  0.00 0.00
i X
BE 0.00 0.00 0.00 0. 00 0.00 0.00] 0.0 0. 00
z 0.00 0. 00 0.00 0. 00 0.00 0.00] 0.0 15, 793. 00
BE =8| 26,177.40| 3.117.50| 15,574.60]  8,385.10| 4,294.00] 1,578.00] 754.70| 1,584, 074.56
SEE 479.30 0.00 141.30 0.00 0.00 0.00 0.00 6, 389. 20
PN
o ik 852. 00 0. 00 0.0  361.10 0.00 0.000  0.00 4997.5
z 25,804.70| 3,117.50| 15,715.90|  8,024.00| 4,294.00| 1,578.00] 754.70| 1,585, 466. 26
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(14) EEREOKEMRER

(B : m),
[mERS

g & 3l X4 50mm | 75mm [ 1TO0OO0Omm|[125mm|150m|200mm|[{250mm| 300mm
B =2 41.10] 5,132.12] 3, 662. 95 0. 00] 2,746.90] 1,333.00 0.00 0.00
c 1 plH4 & E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
# % B = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5 41.10| 5,132.12| 3, 662.95 0. 00| 2,746.90] 1,333.00 0.00 0.00
BX =% 5. 001137, 955. 43| 449, 185.97 0. 00] 221, 664. 05| 188, 029. 39|49, 2117. 40( 53, 331. 62
D I pPl4% & E 0.00| 462.80| 1,256.10 0.00] 510.90] 558.20 0.00[  199. 60
5§09 1 VERE| x| 0.00] 323.40] 120.80 0.00] 413.50] 251.10] 115.10 0.00
B 5.00]138, 094. 83] 450, 321. 27 0. 00] 221, 761. 45| 188, 336. 49|49, 102. 3053, 531. 22
B% 2| 2,060.50] 758.80] 1,157. 05| 2,482.90] 2, 070.50] 2, 764. 85| 1, 655.70]  916.76
S pl4 & [ 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
i Bl = 0.00] 36.50] 111.80 0.00 0.00] 102.90 0.00 0.00
5 2,060.50|  722.30| 1,045.25| 2,482.90 2,070.50{ 2,661.95| 1,655.70|  916.76
B% 2| 844.10[ 3,675.24[13,066. 61| 406. 00[12, 585. 70 0.00 0.00 0.00
v Pl F E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
REELE——VE = 844.10[  226.30 0. 00 0.00 0. 00 0.00 0. 00 0. 00
B 0.00| 3,448.94[13,066.61|  406.00|12,585.70 0.00 0.00 0.00
BX =2[50, 579. 65] 188, 804. 55(41, 707. 18 0.00] 962.50] 362.90 0.00 0.00
H 1 V Py % & 0.00|  38.20 0.00 0.00 0.00 0.00 0.00 0.00
ngé%ﬂe%—;ﬁg # x| 371.40]  149.70|  228.20 0.00 0.00 0.00 0.00 0.00
B 50, 208. 25188, 693. 05|41, 478. 98 0.00] 962.50] 362.90 0.00 0.00
o —  wl® 2| 590.30 9.50] 28.10 0.00] 15.80 0.00 0.00 0.00
B oE OB (M FOE 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
g 4::; ,;';ﬂfz’j}ﬁ& _ = 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5 590. 30 9.50|  28.10 0.00]  15.80 0.00 0.00 0.00
BX % 0.00 0. 00 0.00 0.00]  20.00 0.00 0.00 0.00
A C Pl E E 0.00]  59.50 0.00 0.00 0.00 0.00 0.00 0.00
AfEX Y ME = 0.00|  42.90 0.00 0.00 0.00 0.00 0.00 0.00
B 0.00]  16.60 0.00 0.00]  20.00 0.00 0.00 0.00
B% =2[52, 840.95] 6, 453. 40[ 5, 505. 20 0.00[ 1,109.80] 138.10 0.00] 103.70
p pl% & [1,985.50] 402.60| 152.90 0.00 0.00 0.00 0.00 0.00
RUTFL V& = 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
5 54, 826. 45| 6, 856. 00| 5, 658. 10 0.00{ 1,109.80[ 138.10 0.00[ 103.70
BX % 0.00 37.90] 286.58 0.00] 108.20] 31.50 0.00 0.00
N Cc plEH E E 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
FAO2I-HRE|y = 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
B 0.00| 37.90| 286.58 0.00] 108.20] 31.50 0.00 0.00
BX = 3130 24.60] 434.10 0.00[ 321.10] 585.90] 137.20] 196.60
s s plE F E 0.00 0.00 4.50 0.00 0.00|  97.90 0.00[  39.90
AT YL A MME |y = 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
5 37.30]  24.60| 438.60 0.00{ 321.10] 683.80] 137.20| 236.50
BX £%) 106, 998. 90| 342, 851. 54| 515, 033. 74| 2, 888. 90| 241, 604. 55| 193, 245. 64|51, 010. 30| 54, 548. 68
~ ., |H F E[ 1,985.50]  963.10[ 1,413.50 0.00  510.90  656.10 0.00]  239.50
= E B x| 1,215.50 7178. 80 460. 80 0.00 413.50 354.00 115.10 0.00
5 107, 768. 90(343, 035. 84|515, 986. 44| 2, 888.90(241, 701. 95/193, 547. 74[ 50, 895. 20| 54, 788. 18
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(B 2 m)

E & 7 X4 l:I§350mm 400m|450mm| 500m| 600mm| 70 Omm 800mm1000mn| it
B 2 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0.00 0.00] 12,916.07
c 1 plH = B 0.0 0.00 0.00 0.00 0. 00 0.00 0.00 0.00 0. 00
#® % Bm =/ 0.0 0.000 o000 000 0.00 000  0.00 0.00 0.00
5 0.00 0.00 0.00 0.00 0. 00 0.00 0.00 0.00 12,916.07
B =2|15, 479.91{22, 636. 50| 2, 903.50[14, 852. 20| 8, 291. 50( 4, 208. 00| 1,545.00  754.70[1, 170, 060.17
D 1 plH = B 000 479.30 0.00] 141.30 0.00 0.00 0.00 0.00| 3,608.20
TU 91 IERE| | 446.70|  852.00 0. 00 0.00] 361.10 0. 00 0. 00 0.00| 2,883.70
g 15,033.21{22, 263. 80| 2,903.50|14,993.50| 7,930. 40| 4, 208. 00| 1,545.00{  754.70| 1,170, 784. 67
B | 482.20] 3,526.40] 187.80] 462.90]  93.60]  86.00]  33.00 0.00] 18,738.96
S pl & E 0.0 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
i Bl = 0.00 0. 00 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 251.20
5 482.20( 3,526.40| 187.80| 462.90|  93.60|  86.00]  33.00 0.00| 18,487.76
B 2 0.00 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0.00] 30,577.65
v pl% & El 0.0 0.00 0.00 0.00 0.00 0. 00 0.00 0.00 0.00
RIS —— V8 = 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0.00| 1,070.40
5 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00| 29,507.25
B 2 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0.00| 282,416.78
H T VvV Py & @ 0.0 0.00 0.00 0.00 0.00 0.00 0. 00 0. 00 38.20
@Eﬁ:t‘%—)g & = 0.00 0.00 0. 00 0. 00 0. 00 0. 00 0.00 0.00 749. 30
5 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00| 281,705.68
w vl 2 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 643.70
BoE oK M 5 B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5 =5 élémé B _ = 0.00 0. 00 0. 00 0. 00 0.00 0.00 0. 00 0. 00 0. 00
5 0.00 0. 00 0.00 0.00 0.00 0.00 0.00 0.00 643. 70
B 2 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 20. 00
A C plH = B 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 59. 50
AR EX Y By = 0.00 0.00 0. 00 0.00 0.00 0.00 0.00 0. 00 42.90
5 0.00 0.00 0.00 0. 00 0.00 0.00 0.00 0.00 36. 60
B 2 0.00 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0.00] 66,151.15
p Pl & E| 0.0 0.00 0.00 0.00 0.00 0.00 0.00 0.00] 2,541.00
RUTF L& * 0. 00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
5 0. 00 0.00 0.00 0.00 0.00 0. 00 0.00 0.00| 68,692.15
B = 26.60 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 490.78
N O C pH & B 000 0. 00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
FABYI-HEE = 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
5 26.60 0.00 0. 00 0.00 0.00 0.00 0.00 0.00 490.78
B | 2230  14.50] 26200  259.50 0. 00 0. 00 0. 00 0.00] 2,059.30
s s pl4% & B 000 0.00 0.00 0.00 0.00 0.00 0.00 0.00 142.30
AT YL R EEE |y = 0.00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00 0.00
5 22.30]  14.50]  26.20] 259.50 0.00 0.00 0.00 0.00] 2,201.60
B =&(16,011.01] 26, 177. 40| 3, 117.50[15, 574. 60| 8, 385.10] 4, 294.00( 1,578.00]  754. 70]1, 584, 074. 56
N ., | & B 0.00 479.30 0.00] 141.30 0.00 0.00 0.00 0.00] 6,389.20
- "l | 446.70] 852.00 0. 00 0.00] 361.10 0. 00 0. 00 0.00]  4,997.50
g 15, 564. 31(25, 804. 70| 3, 117.50[ 15, 715.90| 8, 024. 00| 4, 294. 00| 1,578.00[  754.70[1, 585, 466. 26
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(15) 8 - X - B KEMSRERIBER

(#r[X5l) (847 : m)

| . . . ]

ih X B Kk B ¥* K B B K & st

K4

B % 0.00 60,410.60|  1,563,712.60|  1,624,123.20
B B werp 0.00 0.00 6, 389. 20 6, 389. 20
X B = 0.00 0.00 4,997. 50 4,997.50
0.00 60,410.60|  1,565,104.30| 1, 625,514.90
B % 1, 654. 40 0.00 2,722.10 4, 376. 50
+ 38 s 0.00 0.00 0.00 0.00
X B o= 0.00 0.00 0.00 0.00
1, 654. 40 0.00 2,722.10 4, 376. 50
B % 1,879.90 0.00 1,846. 86 3,726.76
= 2 werpr 0.00 0.00 0.00 0.00
X O 0.00 0.00 0.00 0.00
1,879. 90 0.00 1,846. 86 3,726.76
B % 806. 98 0.00 15, 793. 00 16, 599. 98
% Bz weRs 358. 51 0.00 0.00 358. 51
R W = 358. 51 0. 00 0.00 358. 51
806. 98 0.00 15, 793. 00 16, 599. 98
(& &H (847 0 m)

e ]

H Kk B *= K B B K B =t

R4

B % 4,341.28 60,410.60|  1,584,074.56| 1,648, 826.44
st 358, 51 0.00 6, 389. 20 6, T47. 71
% 358. 51 0.00 4,997. 50 5,356. 01
a oz 4,341.28 60,410.60| 1,585, 466.26]  1,650,218.14
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